

کلاس یازدهم - A

پایه ششم ۱۹۰۵

۲۰ آفرین

استاد عالی
مادر و مادر خانوادگی: علی ربانی

$$x^2 - 2x + 1 = 0$$

$$(x-1)^2 = 0$$

$$(x-1)^2 = 0 \Rightarrow x-1 = 0$$

$$x-1 = 0 \Rightarrow x = 1$$

$$x = \frac{1}{2} \rightarrow \frac{1}{4} - 2 \cdot \frac{1}{2} + 1 = 0$$

$$x = -\frac{1}{2} \rightarrow \frac{1}{4} + \frac{1}{2} - 2 + 1 = 0$$

$$x^2 - 12x + 36 = 0$$

$$(x-6)^2 = 0$$

$$x-6 = 0 \Rightarrow x = 6$$

$$x = \frac{6}{2} = 3 \Rightarrow x = 3$$

$$x = -\frac{6}{2} = -3 \Rightarrow x = -3$$

$$\sqrt{\frac{1}{2}} + \sqrt{\frac{1}{2}} = \Delta$$

$$\Rightarrow \sqrt{\frac{1}{2}} + \sqrt{\frac{1}{2}} = \Delta$$

$$x_1 = \frac{1}{2} \quad x_2 = \frac{1}{2}$$

$$\frac{m+1}{2} = \frac{12}{2} \Rightarrow m = 11$$

$$m^2 + 2m + 1 = 0 \Rightarrow (m+1)^2 = 0 \Rightarrow m = -1$$

$$x^2 + kx - 9 = 0$$

$$A+B=1 \quad A \cdot B = -9$$

$$B = -A+1$$

$$A \cdot B = -9 = (-A+1)(A) = -A^2 + A = -9$$

$$\Rightarrow A = 3 \quad B = -1$$

$$A = -1 \quad B = 3$$

$$(A-3)(A+1) = 0 \Rightarrow A^2 - 2A - 3 = 0$$

$$(A-3)(A+1) = 0 \Rightarrow A = 3 \text{ or } A = -1$$

$$k = -1$$

$$x^2 + 4x + 4 = 0$$

$$A < B < 0$$

$$A^2 + B^2 = 12\sqrt{2} + 10$$

$$S = -4 \Rightarrow A+B = -4 \Rightarrow B = -A-4$$

$$\Delta = \frac{16}{4} + 4 + 4\sqrt{2} = 12 + 4\sqrt{2}$$

$$x^2 + 4x + 4 = 0 \Rightarrow (x+2)^2 = 0 \Rightarrow x = -2$$

$$x = \frac{-4 \pm \sqrt{16 + 16\sqrt{2}}}{2}$$

$$\Delta x^2 + 4x - 12\sqrt{2} = 0$$

$$x < 0$$

$$\sqrt{12 + 4\sqrt{2}} = \sqrt{(2\sqrt{2} + 2)^2} = 2\sqrt{2} + 2$$

$$x = \frac{-4 - \sqrt{16 + 16\sqrt{2}}}{2} = \frac{-4 - 2\sqrt{2} - 2}{2} = -2 - \sqrt{2}$$

$$A+B = -4 \Rightarrow -2 - \sqrt{2} + B = -4 \Rightarrow B = -2 + \sqrt{2}$$

$$A \cdot B = (-2 - \sqrt{2})(-2 + \sqrt{2}) = 4 - 2 = 2$$

$$x^2 + 2x - 1 - m^2 = 0$$

$$S = \alpha + \beta = 1$$

$$P = \alpha \beta = -(1+m^2)$$

$$\min \alpha^2 + \beta^2 = S^2 - 2P$$

$$1 - 2P$$

$$1 - 2(-(1+m^2)) = 1 + 2 + 2m^2$$

$$\underbrace{1 + 2 + 2m^2}_{\text{مقدار مینیمم}} \xrightarrow{\text{مقدار مینیمم}} m=0 \Rightarrow 1 + 2 = 3$$

$$m=0 \Rightarrow 1 + 2 = 3 \quad \checkmark$$

۳ - ۹
(۲)



$$\begin{vmatrix} -1 & 1 \\ 1 & 1 \end{vmatrix} \rightarrow AB \text{ دایره} = \frac{c^2 - 0}{r^2} = -1$$

$$\left[\frac{1}{r^2} \right] - 1$$

$$y = ax^2 + bx + c \Rightarrow 1 = a - b + c$$

(۲)

$$\begin{vmatrix} -b/r_n & -1 \\ -\Delta/r_n & 1 \end{vmatrix} = -1 \quad \text{و } a = b$$

$$ax^2 + bx + c$$

$$-\frac{\Delta}{r_n} = 1 = \frac{(ac - b^2)/r_n}{r_n} = \frac{(c - a)}{r_n} = 1$$

$$c - a = 1$$

$$\Rightarrow c = a + 1$$

$$y = ax^2 + bx + c + 1$$

$$\alpha^2 + \beta^2 = 0 \Rightarrow S^2 - 2P = 0 \Rightarrow 1 - \frac{2(a+1)}{r} = 0$$

$$y = -\frac{r}{2}x^2 - \frac{r}{2}x + \left(\frac{1}{r}\right) \quad \checkmark$$

کرنا از مبدأ

$$-\frac{2(a+1)}{r} = 1$$

$$2a + 2 = -r$$

$$2a = -r - 2$$

$$a = \frac{-r-2}{2}$$